43032100 HANSARONDA Style - Washbasin faucet

EAN: 4015474105522
static.hansa.com/43032100

" Spare parts
12y M3
SP43032100
12 ms 1 Name Code

1 Lever Chrome 43890005

1 Lever Chrome 59913774
1 Lever Chrome 43880003

11 Screw, M5x8, SW2.5 59904755

12 Bushing 59904778

13 Symbol plug Grey 59912112

i 2 Covering cap Chrome 59912797
LT 3 Screw, M42x1, SW34 59912798
] 4 Cartridge, 4.0 Classic 59912791

571 G55

B s 4. Temperature adjustment limiter 59912799

U 51 Pop-up operating rod Chrome 59912804

B 5.2 Swivel joint 59904624
53 Gasket, 37x48x3.5 59911422

5.4 Clip plate 59912805

55 Fixing plate 59904765

5.6 Screw, M8x1, SW13 59904766

5.7 Fixing set 59910749

5.8 Coupling pipe, L=430, M10x1 59912550

59 0-ring, 9x2 59905095

512 Fixing screw, M8x1, L=140 59912474

6 Aerator, M24x1 STD HC A Chrome 59902366

6.1 Aerator, M22/24 A 59902081

7 Pop-up waste Chrome 59911441

NI Key, SW30/34 59912108

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/43032100

